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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. What do you understand by Accounting Principles ? 

Explain the various Accounting Principles. 

ys[kkadu fl)kUrksa ls vki D;k le>rs gSa \ fofHkUu ys[kkadu 

fl)kUrksa dh O;k[;k dhft,A 

2. What is the meaning of Instalment Payment System ? 

What is the difference between Hire-purchase system 

and Instalment system ? 

fd’r Hkqxrku i)fr ls D;k vk’k; gS \ fdjk;k&Ø; i)fr 

vkSj fd’r Hkqxrku i)fr esa D;k vUrj gS \ 

3. “Trial Balance is not a conclusive proof of accuracy of 

books of accounts.” Do you agree with this statement ? 

Explain. 

ßryiV ys[kk&iqLrdksa dh ‘kq)rk dk vfUre izek.k ugha gSAÞ 

D;k vki bl dFku ls lger gSa \ O;k[;k dhft,A 

4. Prepare Final Accounts of AAG Ltd. for the year 

ending 31st March, 2017 from the following : 

      `     ` 

Purchase and Sales 70,007 82,500 

Sales Returns 505 – 

Opening stock 24,600 – 

Bad debts 300 – 

Depreciation 1,800 – 

General Expenses 700 – 

Provision for Bad Debts – 1,200 

Salaries 3,000 – 
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Capital  55,310 

Cash  8,708 – 

Debtors and Creditors 21,300 20,625 

Furniture   4,500 – 

Outstanding Salaries – 785 

Plant 25,000 – 

 1,60,420 1,60,420 

Adjustments : 

(i) Closing Stock ` 21,499. 

(ii) Create provision for Bad debts @ 10%. 

(iii) Charge Depreciation  on plant @ 5%. 

31 ekpZ] 2017 dks lekIr gksus okys o”kZ ds fy, AAG fy- 

ds vfUre [kkrs fuEukafdr ls cukb, % 

      `     ` 

Ø; ,oa foØ; 70,007 82,500 

foØ; okilh 505 – 

izkjfEHkd jgfr;k 24,600 – 

v’kks/; _.k 300 – 

kl 1,800 – 

lkekU; O;; 700 – 

lafnX/k _.kkFkZ izko/kku – 1,200 

osru 3,000 – 
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iw¡th  55,310 

jksdM+ 8,708 – 

nsunkj o ysunkj 21,300 20,625 

QuhZpj 4,500 – 

vnŸk osru – 785 

Iyk.V 25,000 – 

 1,60,420 1,60,420 

lek;kstuk,¡ % 

(i) vfUre jgfr;k ` 21]499A 

(ii) v’kks/; _.k gsrq 10% dh nj dk izko/kku dhft,A 

(iii) Iyk.V ij 5% kl yxkb;sA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is Accounting ? Explain its main advantages. 

ys[kkadu D;k gS \ blds eq[; ykHk crkb;sA 
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2. Journalise the following transactions in the book of X 

& Co. : 

  ` 

April 1 Started Business with Cash 50,000 

2 Cash Purchase 12,000 

14 Wages Paid 2,000 

20 Cash Sales 15,000 

25 Paid Rent 4,000 

30 Plant Purchased 7,000 

fuEufyf[kr ysu&nsuksa dk X ,.M da- ds jkstukepk esa ys[kk 

dhft, % 

  ` 

vizSy  1 jksdM+ ls O;olk; vkjEHk fd;k 50,000 

2 udn Ø; 12,000 

14 etnwjh Hkqxrku 2,000 

20 udn fcØh 15,000 

25 fdjk;k Hkqxrku 4,000 

30 Iyk.V Ø; 7,000 

3. Define the difference between Revenue and Capital 

Expenses. 

vk;xr rFkk iw¡thxr O;;ksa esa vUrj crkb;sA 

4. Differentiate between Consignment and Joint Venture 

Accounts. 

izs”k.k vkSj la;qDr lkgl [kkrs esa vUrj crkb;sA 

5. Differentiate between Reserve and Provision. 

lap; vkSj izko/kku esa vUrj crkb;sA 
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6. Enter the following transactions in a Cash Book with 

two column viz. Cash and Bank : 

2017         ` 

Jan., 1 Opening Balance of Cash  150 

Jan., 1 Bank Overdraft 1,000 

Jan., 2 Good Sold for Cash 3,000 

Jan., 4 Cash deposited into Bank 3,000 

Jan., 6 Rent paid in Cash 100 

Jan., 30 Salary Paid by Cheque 250 

fuEufyf[kr ysu&nsuksa dk nks [kkuksa okyh jksdM+ cgh vFkkZr~ 

udn vkSj cSad esa ys[kk dhft, % 

2017  ` 

tuojh 1 izkjfEHkd ‘ks”k 150 

tuojh 1 cSad vf/kfod”kZ 1,000 

tuojh  2 udn eky foØ; 3,000 

tuojh 4 cSad esa udn tek fd;k 3,000 

tuojh 6 udn fdjk;k fn;k 100 

tuojh 30 osru pSd }kjk fn;k 250 

7. Explain the objects of Branch Accounts. 

‘kk[kk ys[kksa ds mís’; crkb;sA 

8. What is Error ? Define Compensatory error. 

v’kqf) D;k gS \ {kfriwfrZ dh v’kqf) dk mYys[k dhft,A 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct answer : 

lgh mŸkj dk p;u dhft, % 

1. The father of modern form of Accountancy is : 

(a) Lucas Pacioli 

(b) Henry Fayol 

(c) W. R. Nickson 

(d) Spicer and Pegeer 

ys[kkadu ds vk/kqfud Lo:i ds tUenkrk gSa % 

¼v½ Y;wdl isflvksyh 

¼c½ gsujh Qs;ksy 

¼l½ MCY;w- vkj- fuDlu 

¼n½ Likblj ,oa isxyj 

2. Accounting is the language of : 

(a) Society 

(b) Business 

(c) Government 

(d) None of the above 
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ys[kkadu Hkk”kk gS % 

¼v½ lekt dh 

¼c½ O;kikj dh 

¼l½ ljdkj dh 

¼n½ mi;qZDr esa ls dksbZ ugha 

3. State which of the following equations is correct ? 

(a) Owner‟s Equity = Assets + Liabilities 

(b) Assets = Owner‟s Equity + Liabilities 

(c) Liabilities = Owner‟ Equity + Assets 

(d) None of the above 

crkb;s fuEufyf[kr esa ls dkSu&lk lehdj.k lgh gS \ 

¼v½ Lokeh iw¡th  lEifŸk $ nkf;Ro 

¼c½ lEifŸk  Lokeh iw¡th $ nkf;Ro 

¼l½ nkf;Ro  Lokeh iw¡th $ lEifŸk 

¼n½ mi;qZDr esa ls dksbZ ugha 

4. The methods for finding Profit in Case of Dependent 

Branches are : 

(a) Two 

(b) Three 

(c) Four 

(d) Five 

vkfJr ‘kk[kkvksa ds lEcU/k esa ykHk Kkr djus dh fof/k;k¡ gSa % 

¼v½ nks 

¼c½ rhu 

¼l½ pkj 

¼n½ ik¡p 
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5. If the Head Office sends goods to the branch at cost + 

25% the Head Office will adjust by : 

(a) 16.66% 

(b) 20% 

(c) 25% 

(d) 33.33% 

;fn eq[; dk;kZy; ‘kk[kk dks eky ykxr + 25% ij Hkstrk 

gS] rks bldks eq[; dk;kZy; lek;ksftr djsxk % 

¼v½ 16.66% 

¼c½ 20% 

¼l½ 25% 

¼n½ 33.33% 

6. Joint Venture Account is : 

(a) Personal 

(b) Real 

(c) Nominal 

(d) None of these 

la;qDr lkgl [kkrk gS % 

¼v½ O;fDrxr 

¼c½ okLrfod 

¼l½ ukeek= 

¼n½ buesa ls dksbZ ugha 
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7. Under the instalment payment system the 

responsibility of repairs of asset is of : 

(a) Purchaser 

(b) Vendor 

(c) Both of Purchaser and Vendor 

(d) None of the above 

fd’r Hkqxrku i)fr ds vUrxZr lEifŸk dh ejEer dk 

nkf;Ro fuEufyf[kr esa ls fdldk gksrk gS \ 

¼v½ Øsrk dk 

¼c½ foØsrk dk 

¼l½ Øsrk o foØsrk nksuksa dk 

¼n½ mi;qZDr esa ls dksbZ ugha 

8. Under what concepts of trader charges depreciation on 

his fixed asset every year ? 

(a) Cost concept 

(b) Matching concept 

(c) Dual Aspect concept 

(d) Concept of Uniformity 

,d O;kikjh viuh LFkk;h lEifŸk ij izfro”kZ kl dh x.kuk 

fdl vo/kkj.kk ds vk/kkj ij djrk gS \ 

¼v½ ykxr vo/kkj.kk 

¼c½ vuq:irk vo/kkj.kk 

¼l½ f}&i{k vo/kkj.kk 

¼n½ ,d:irk dh vo/kkj.kk 
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9. It is necessary for Accounting Principles that there 

should be : 

(a) Relevance 

(b) Objectivity 

(c) Practicability 

(d) All of the above 

ys[kkadu fl)kUr ds fy, vko’;d gS fd muesa gks % 

¼v½ lEc)rk 

¼c½ oLrqfu”Brk 

¼l½ O;ogk;Zrk 

¼n½ mi;qZDr lHkh 

10. Which of the following is not the method of 

depreciation ? 

(a) Annuity method 

(b) Written down value method 

(c) Straight line method 

(d) None of the above 

fuEufyf[kr esa ls dkSu&lh kl fudkyus dh i)fr ugha 

gS \ 

¼v½ okf”kZdh fof/k 

¼c½ Øekxr ‘ks”k fof/k 

¼l½ lh/kh js[kk fof/k 

¼n½ mi;qZDr esa ls dksbZ ugha 
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